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The Brown Cow in the Tower

Focus: “ow” Pattern Words

There is a brown cow in the tower.
How did the cow get in the tower?
The town clown locked her there.
The clown wanted the cow to plow,
but the brown cow didn‘t want to plow.
Now the clown’s cow is in the tower.

The citizens of the town can vote.

They can help the cow get down.

They have power in the town.

The clown must let the cow down.

The brown cow can come down
from the tower.

Now the clown must plow.
The brown cow sees the clown plow.
\ﬁow! The clown can sure plow!

Name:

1) Where is the brown cow?
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